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Exam 01 : Information and Communication Technology
(ICT)

Part A: Multiple Choice Questions (MCQs) Select the correct answer from the given
options.

1. Which of the following is a primary impact of ICT on businesses?
o A) Decreased global connectivity
e B) Increased cost inefficiencies
e C) Enhanced operational efficiency
o D) Reduced communication across organizations
2. What is the main difference between IT and ICT?
e A)ICTis asubsetof IT
o B)IT focuses only on hardware
e C)ICT includes communication technologies
o D) IT does not involve data processing

3. Which technology is specifically used in banks to ensure secure high-speed
scanning and processing of information?

o A) Optical Character Recognition (OCR)
« B) Magnetic Ink Character Recognition (MICR)
o C) Optical Mark Reader (OMR)
o D) Barcode Reader

Part B: True/False Indicate whether the statement is true or false.

4. ICT only improves external communications within a business.

e True
o False

5. Digital TV uses digital signals which allow for higher resolution and better
clarity compared to analog signals.

e True
o False

Part C: Fill in the Blanks Use the word bank to fill in the blanks.



Word Bank: automation, blockchain, cloud computing, predictive analytics, virtual
reality

6. ______ ___enables businesses to use remote servers hosted on the internet to
store, manage, and process data.

7. The integration of _________ technology in business processes helps with
transparency and enhances security for transactions.

Part D: Short Answer Answer the following questions briefly.
8. Explain how ICT can drive innovation in businesses.

9. What are some of the challenges associated with ICT-enabled commercial
transactions?

Part E: Essay Write a detailed response.

10. Discuss the role of ICT in reducing the digital divide. Include examples of how
different technologies can be used to improve access to information and
communication tools across diverse populations.

Exam 02 : Advanced Topics in Information and
Communication Technology (ICT)

Part A: Multiple Choice Questions (MCQs) Select the correct answer from the given
options.

1. Which of the following best describes the impact of ICT on supply chain
management?

e A) Increases paperwork and manual processes
o B) Reduces efficiency and increases operational costs
» C) Enhances real-time monitoring and optimization
o D) Has no significant impact on inventory levels
2. ICT's role in business intelligence is primarily to:
o A) Reduce the need for data analysis
o B) Store large amounts of unnecessary data
o C) Facilitate the extraction of insights from big data
o D) Ignore market trends and customer behaviors
3. What does CRM stand for, and what is its purpose in business?

e A) Customer Relationship Management; to manage a company's
interactions with current and potential customers



o B) Corporate Resource Management; to manage a company's financial
assets

e C) Consumer Retention Mechanism; to ensure customer loyalty
through rewards

o D) Communication Regulation Module; to oversee internal and external
communications

Part B: Matching Match the technology with its correct application.
4. Blockchain - []
5. Augmented Reality - []
6. Predictive Analytics - []
Options:
e A) Improves decision-making by forecasting future trends

« B) Enhances user interaction with virtual overlays in real-world
environments

e C) Provides a secure, transparent way to record transactions
Part C: True/False Indicate whether the statement is true or false.
7. ICT has only a superficial impact on organizational decision-making.
e True
o False
8. E-commerce is an example of how ICT can open new markets for businesses.
e True
o False
Part D: Short Answer Answer the following questions briefly.
9. Describe one major advantage of using cloud computing in businesses.

10. What is the significance of data security in ICT, and how is it typically
ensured?

Part E: Essay Write a detailed response.

1. Evaluate the role of mobile technologies in shaping consumer behavior.
Include examples of how businesses use mobile technology to enhance
customer experiences.

Exam Answer Key



Part A: Multiple Choice Questions (MCQs)
1. C) Enhances real-time monitoring and optimization

o Explanation: ICT improves supply chain management by enabling real-
time monitoring and optimization, reducing overstocking and
stockouts.

2. C) Facilitate the extraction of insights from big data

e Explanation: The primary role of ICT in business intelligence is to help
businesses harness big data to extract valuable insights and make
informed decisions.

3. A) Customer Relationship Management; to manage a company's interactions
with current and potential customers

« Explanation: CRM stands for Customer Relationship Management,
which is crucial for managing interactions and building relationships
with customers.

Part B: Matching
4. Blockchain - C) Provides a secure, transparent way to record transactions

5. Augmented Reality - B) Enhances user interaction with virtual overlays in
real-world environments

6. Predictive Analytics - A) Improves decision-making by forecasting future
trends

Part C: True/False
7. False

« Explanation: ICT has a profound impact on organizational decision-
making, enabling data-driven strategies and enhanced analytical
capabilities.

8. True

o Explanation: E-commerce is a direct application of ICT that enables
businesses to reach new markets and customers through online sales
platforms.

Part D: Short Answer

9. One major advantage of using cloud computing in businesses is its scalability.
Businesses can quickly adjust their computing resources based on demand,
improving efficiency and reducing costs.



10. Data security in ICT is crucial to protect sensitive information from
unauthorized access and breaches. It is typically ensured through measures
such as encryption, firewalls, and secure user authentication practices.

Part E: Essay

1. Mobile technologies significantly shape consumer behavior by providing on-
the-go access to information and services. Businesses leverage mobile
technology to enhance customer experiences through personalized
marketing, mobile apps, and location-based services, which facilitate more
engaged and tailored interactions. Examples include mobile payment
systems, targeted advertising based on user location, and apps that provide
personalized shopping experiences.

Exam: Advanced Critical Thinking in ICT

Part A: Multiple Choice Questions (MCQs) Select the correct answer from the given
options.

1. Which of the following is NOT a typical feature of Robotic Process Automation
(RPA) in enhancing business processes?

o A) Automating repetitive tasks

« B) Facilitating real-time decision making
o C) Requiring extensive manual oversight
o D) Reducing human error

2. In the context of ICT, what does the integration of Al with loT devices primarily
enhance?

e A) Human resource management

e B) Predictive maintenance

o C) Traditional marketing approaches
« D) Manual data entry processes

3. Which principle is most critical when designing cybersecurity measures for
ICT systems?

o A) Data redundancy
e B) User convenience

e C) Cost minimization



o D) Defense in depth
Part B: Scenario Analysis Read the scenario and answer the question that follows.

Scenario: A multinational corporation is planning to expand its operations in a
region known for high cyber threat levels. The company relies heavily on cloud
computing and real-time data analytics for its operations.

4. What should be the primary focus of the company’s ICT strategy to ensure
operational continuity and data integrity?

e A) Increasing physical security at data centers
o B) Implementing robust encryption and multi-factor authentication
e C) Focusing solely on employee training and awareness
o D) Reducing reliance on cloud-based solutions

Part C: True/False Indicate whether the statement is true or false.

9. The use of blockchain technology is limited to financial transactions.

e True
o False

6. Virtual Reality (VR) can significantly enhance remote collaboration beyond
traditional video conferencing.

e True
o False
Part D: Short Answer Answer the following questions briefly.

7. Discuss how data analytics can be misused in the context of consumer
privacy.

8. What are the potential risks associated with the widespread adoption of loT
devices in critical infrastructure?

Part E: Essay Write a detailed response.

9. Critically evaluate the implications of ICT innovations such as Al and loT on
workforce dynamics. Consider aspects like job creation, job displacement,
and skill requirements.

Exam Answer Key
Part A: Multiple Choice Questions (MCQs)

1. C) Requiring extensive manual oversight



o Explanation: RPA is designed to operate with minimal manual
oversight as it automates repetitive tasks to reduce human
involvement and error.

2. B) Predictive maintenance

o Explanation: The integration of Al with loT devices primarily enhances
predictive maintenance capabilities, allowing for better prediction and
prevention of equipment failures.

3. D) Defense in depth

o Explanation: The principle of 'defense in depth'is critical in
cybersecurity, entailing multiple layers of security measures to protect
information from threats.

Part B: Scenario Analysis
4. B) Implementing robust encryption and multi-factor authentication

o Explanation: In a high cyber threat area, focusing on robust encryption
and multi-factor authentication is crucial to protecting data integrity
and ensuring operational continuity in cloud computing environments.

Part C: True/False
5. False

o Explanation: Blockchain technology is not limited to financial
transactions; it also extends to supply chain management, healthcare
records, and other areas requiring secure, transparent record-
keeping.

6. True

« Explanation: Virtual Reality (VR) can enhance remote collaboration by
offering immersive, interactive environments that go beyond what is
possible with traditional video conferencing, improving engagement
and effectiveness.

Part D: Short Answer

7. Data analytics can be misused in the context of consumer privacy by
collecting and analyzing personal data without consent, leading to privacy
invasions. Misuse can also occur when data is used to manipulate consumer
behavior or make decisions that discriminate against certain groups.

8. Potential risks associated with the widespread adoption of loT devices in
critical infrastructure include increased vulnerability to cyber-attacks,
privacy issues due to data breaches, and the possibility of system failures
that could disrupt essential services.



Part E: Essay

9. ICT innovations such as Al and loT have significant implications on workforce
dynamics. While these technologies can create new job opportunities in tech-
driven sectors and require new skills, they also pose risks of job
displacement, especially in roles that are highly automatable. The shift
demands an emphasis on re-skilling and education to prepare the workforce
for new demands. Al and loT can streamline operations and reduce labor
costs, but they also raise ethical concerns about surveillance and decision-
making autonomy in the workplace.



